



GREENDALE SECONDARY SCHOOL SECONDARY 3 BOOKLIST FOR YEAR 2026

lame of Pupil:		Class:
	·	

Subject	Title of Book	Publisher	Tick	Price\$	S.Total\$
English Language	Sec 3 (G3) English Language Editing	GLM		10.90	
(G3)					10.90
English Language	Sec 3 (G2) English Language Editing	GLM		10.90	
(G2)					10.90
Literature (G3)	The Chrysalids (John Wyndham)	PM Associates		22.85	
Litoraturo (OO)	TSE: Romeo & Juliet (Author : William Shakespeare)	Pansing		19.60	42.45
Additional	Additional Maths 360 (2Ed) EBook Bundle (Print & Enhanced APP)	Marshall C		41.65	
Mathematics	(2-year access)				
(Choose Either	Additional Maths 360 Volume A (2Ed)	Marshall C		21.50	1
Bundle or Print)	Additional Maths 360 Volume B (2Ed)	Marshall C		13.65	76.80
	New Discovering Mathematics Textbook 3A (G3)	Star Pub		16.45	70.00
Mathematics (G3)		Star Pub		13.70	
	New Discovering Mathematics Textbook 3B (G3)		-		
	New Discovering Mathematics Workbook 3A (G3) NEW!	Star Pub		13.10	
	New Discovering Mathematics Workbook 3B (G3) NEW!	Star Pub		9.80	53.05
Mathematics (G2)	New Discovering Mathematics Textbook 3A (G2)	Star Pub		15.05	
	New Discovering Mathematics Textbook 3B (G2)	Star Pub		14,70	
	New Discovering Mathematics Workbook 3A (G2) NEW!	Star Pub		9.80	
	New Discovering Mathematics Workbook 3B (G2) NEW!	Star Pub		9.80	49.35
Mathematics (G1)	Maths 20/20 G1 Textbook 3A-Print & Digital Pack (3-year access)	Shing Lee		11.80	
(Choose Either	Maths 20/20 G1 Textbook 3B-Print & Digital Pack (3-year access)	Shing Lee		11.80	
Bundle or Print)	Maths 20/20 G1 Textbook 3A	Shing Lee		8.70	4
	Maths 20/20 G1 Textbook 3B	Shing Lee		8.70	
	Maths 20/20 G1 Workbook 3A	Shing Lee	1	5.10	
	Maths 20/20 G1 Workbook 3A Maths 20/20 G1 Workbook 3B	Shing Lee	1	5.10	51.20
D D'. I				39.30	31.20
Pure Biology	Biology Matters G3 Textbook (3Ed)	Marshall C		39.30	00.00
(Express)					39.30
Pure Chemistry	Chemistry Matters G3 Textbook (3Ed)	Marshall C		31.25	
(Express)					31.25
Pure Physics	Physics Matters G3 Textbook (5 Edition)	Marshall C		34.70	
(Express)					34.70
Science	Discover Chemistry G2 Science and G3 Science Textbook (3Ed)	Marshall C		27.75	
(Chemistry)					
Express / NA					27.75
Science	Discover Physics G2 Science and G3 Science Textbook (5 Edition)	Marshall C		31.25	
(Physics)	Bisocraft Hysics Oz osienoc una co osienoc foxeson (o Edition)				
Express / NA					31.25
Science	Discover Biology G2 Science and G3 Science Textbook (3Ed)	Marshall C		35.05	01.20
	Discover Biology G2 Science and G3 Science Textbook (SEd)	Iviai Silali C		55.05	
(Biology)					25.05
Express / NA			-	11.05	35.05
Science (NT)	Science For Upper Secondary G1 Activity Book	Shing Lee	-	14.95	
History	Upper Secondary History: Unit 1: The Making of the 20th Century World	Hodder Edu.		4.50	
(Elective)	1910-1942 (Elective)				
(G3/G2)					4.50
Geography	Upper Secondary Geog IM Bk 2 - Tourism *	Marshall C		1.70	
(Elective) (G3)					1.70
Geography	Upper Secondary Geog IM Bk 1 - Geography In Everyday Life *	Marshall C		1.60	
(Elective)	Upper Secondary Geog IM Bk 4 - Tectonics *	Marshall C		1.80	_
(G3/G2)	oppor occordary coog in on a roccordo				3.40
Social Studies	Secondary 3 Social Studies (G3/G2) Coursebook	Hodder Edu.		8.00	
	Secondary 5 Social Studies (65/62) Coursebook	House Ess.		6.00	
(G3/G2)			-	44.50	8.00
Social Studies	Social Studies G1 Humanities: Maximising Opportunities in a Changing	Hodder Edu.		11.50	
(G1)	World (Sec 3) Coursebook		-		11.50
Design &	Design & Technology Revision Guide - O Level (2026) NEW!	CMN		NFY	
Technology	Design & Technology Revision Guide - NA Level (2026) NEW!	CMN		NFY	1
(G3/G2)					0.00
Elements Of	Elements Of Business Skills Textbook (Revised Edition) NEW!	Star Pub		14.30	
Business Skills					
(G1)					14.30
Principles of	G2/G3 Upper Secondary Principles of Accounts Textbook Ebook Bundle	Marshall C		19.75	
		IVIAI SIIAII C		15.15	
Accounts	(Revised Edn) (Print Textbk & Digitised Textbk (4-year access) NEW!	Marshall C		775	-
(Exp/NA)	G2/G3 Upper Secondary Principles of Accounts Workbook (Revised Edn)	Marshall C		7.75	
	NEW!				27.50



GREENDALE SECONDARY SCHOOL SECONDARY 3 BOOKLIST FOR YEAR 2026

S3

Name of Pupil:	Class:	

A. Textbooks/Workbooks

Subject	Title of Book	Publisher	Tick	Price\$	S.Total\$
Chinese Language	Chinese Language For Sec Schools (华文件我行) Textbook 3 (G3)	Marshall C		14.50	
(CL) (G3)	EBook Bundle (Print Textbook and Digitised Textbook (3-year access))				
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL				
	Chinese Language For Sec Schools (华文伴我行) Textbook 3 (G3)	Marshall C		9.65	
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL				
	Chinese Language For Sec Schools (华文件我行) Workbook 3 (G3)	Marshall C		8.20	
	A Handbook of Chinese Vocabulary For Secondary 3A/B (G3 Chinese) NEW!	SAP		10.80	43,15
Chinese Language	Chinese Language For Sec Schools (华文伴我行) Textbook 3 (G2) EBook	Marshall C		13.85	10,10
CL) (G2)	Bundle (Print Textbook & Digitised Textbook (4-year access))				
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL				
	Chinese Language For Sec Schools (华文件我行) Textbook 3 (G2)	Marshall C		9.20	
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL	maronon o		0.20	
	Chinese Language For Sec Schools(华文件我行) Workbook 3 (G2)	Marshall C	-	7.95	31.00
Chinese Language	Chinese Language For Sec Schools (华文伴我行) Textbook 3 (G1) EBook	Marshall C	-	13.40	31.00
G1)	Bundle (Print Textbook & Digitised Textbook (3-year access))	III aronair o		10.40	
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL				
	Chinese Language For Sec Schools (华文伴我行) Textbook 3 (G1)	Marshall C	_	8.95	
	CAN CHOOSE EITHER TEXTBOOK OR DIGITAL	indicinal o		0.50	
	Chinese Language For Sec Schools (华文伴我行) Workbook 3 (G1)	Marshall C		7.75	30.10
Malay Language	Malay Language For Sec Schools (JATi) Textbook 3 (G3) EBook Bundle	Marshall C		14.00	30.10
ML) (G3)	(Print Textbook & Digitised Textbook (3-year access))	Maiorian		14.00	
	Malay Language For Sec Schools (JATi) Textbook 3 (G3)	Marshall C		9.30	
	CHOOSE EITHER EBUNDLE OR TEXTBOOK ONLY	Wildrondin G		0.00	
	Malay Language For Sec Schools (JATi) Activity Book 3 (G3)	Marshall C		7.95	31.25
Malay Language	Malay Language For Sec Schools (JATi) Textbook 3 (G2) EBook Bundle	Marshall C		13.70	01.20
ML) (G2)	(Print Textbook & Digitised Textbook (4-year access))	Wild Chair C		10.70	
	Malay Language For Sec Schools (JATi) Textbook 3 (G2)	Marshall C		9.10	
	CHOOSE EITHER EBUNDLE OR TEXTBOOK ONLY	Warshall		3.10	
	Malay Language For Sec Schools (JATi) Activity Book 3 (G2)	Marshall C		7.75	30.55
Malay Language	Malay Language For Sec Schools (JATi) Textbook 3 (G1) Ebook Bundle	Marshall C		13,70	30.33
G1)	(Print Textbook & Digitised Textbook (3-year access))	Watshall C		13,70	
	Malay Language For Sec Schools (JATi) Textbook 3 (G1)	Marshall C		9.10	
	CHOOSE EITHER EBUNDLE OR TEXTBOOK ONLY	Iviai Silali C		9.10	
	Malay Language For Sec Schools (JATi) Activity Book 3 (G1)	Marshall C		7.75	30.55
	The state of the s	Iviaisiiali		7.70	30,00

T . I			
Iotal Amount	tor Section A	(Textbooks/Workbooks)	

Remarks

- 1) Parents are strongly encouraged to purchase through school bookshop or pre-order via our website: www.pacificbookstores.com to ensure correct edition of books.
- 2) If you are purchasing from the bookshop with the booklist, please tick neatly the items required. Please note that items purchased are non-refundable. For exchanges, please do so at the school bookshop within 1 week of purchase with this booklist and official receipt. Please note that items to be exchanged are to be in original condition.
- 3) Price stated is inclusive of GST (GST Reg No. 199905993R). NFY stands for item price Not Fixed Yet
- 4) * denotes books final year used by MOE in year 2026.



GREENDALE SECONDARY SCHOOL SECONDARY 3 STATIONERY LIST FOR YEAR 2026

S3

General	QTY	Tick	Price\$	Total\$
GDSS Lecture Pad	2		2.40	4.80
	Total for Section			4.80
Art Material (Applicable to Those Taking Art Subject)	QTY	Tick	Price\$	Total\$
A3 20 Pockets Clear Holder	1		8.30	8.30
ESPP A3 Drawing Block 135g	1		3.40	3.40
Faber-Castell Parrot Water Colour Pencil 24Cols	1		12.20	12.20
OMNI Techno Draw PRO Pencil 4Pcs (2B/4B/6B/8B)	1		3.20	3.20
OMNI 8MM German Sharpener In Container (Push Cap)	1		1.10	1.10
OMNI Kneaded Eraser, White	11_		1.30	1.3
Sakura Pigma Micron 0.3mm,0.5mm,0.8mm in set	1		6.60	6.6
Cartridge Exercise Book A4	1		3.90	3.9
Pentel Aqua Water Brush Medium Mini	1		4.00	4.00
5C Divider File - Dark Blue	1_		3.40	3.40
	Tota	al for S	Section	47.40
Chinese Language	QTY	Tick	Price\$	Totals
GDSS A4 Compo Pad	1		2.10	2.1
5C Divider File - L.Blue G3/G2	1		3.40	3.40
8806 Subject File - Light Blue G1	1		1.00	1.0
	Tota	al for S	Section	6.5
Malay Language	QTY	Tick		Total
GDSS Lecture Pad	1		2.40	2.40
5C Divider File - L.Blue	1	-1 f C	3.40	3.40
	100	al for S	Section	5.80
Stationery (D & T) (Compulsory)	QTY	Tick		Total
B4 Sketch Bk	1 Tot	al for S	4.50 Section	4.5 4.5
	100	al lui s	section [4,5
	QTY	Tick	Price\$	
82D Subject Ring File - Red (POA)	1	Tick	3.30	3.3
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE)	1 1	Tick	3.30 3.30	3.3 3.3
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY)	1 1 1	Tick	3.30 3.30 1.00	3.3 3.3 1.0
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH)	1 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30	3.3 3.3 1.0 3.3
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES)	1 1 1 1 2	Tick	3.30 3.30 1.00 3.30 1.00	3.3 3.3 1.0 3.3 2.0
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE)	1 1 1 1 2 2	Tick	3.30 3.30 1.00 3.30 1.00 1.00	3.3 3.3 1.0 3.3 2.0 2.0
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover	1 1 1 1 2 2 2	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00	3.3 3.3 1.0 3.3 2.0 2.0 12.0
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH)	1 1 1 1 2 2 2 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH)	1 1 1 1 2 2 2 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 3.4
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP: \$ 12.50)	1 1 1 1 2 2 2 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 3.4
Stationery (Optional) 82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP : \$ 12.50) Casio Scientific Calculator FX-97SG X (UP: \$35.50) Kamus Dewan Edisi Keempat Paperback (Malay Dictionary)	1 1 1 1 2 2 2 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50 33.00	Totals 3.30 3.30 1.00 3.31 2.00 12.00 3.40 3.40 10.51 33.00 28.21
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP: \$ 12.50) Casio Scientific Calculator FX-97SG X (UP: \$35.50) Kamus Dewan Edisi Keempat Paperback (Malay Dictionary)	1 1 1 1 2 2 2 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 3.4 10.5 33.0 28.2
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP: \$ 12.50) Casio Scientific Calculator FX-97SG X (UP: \$35.50) Kamus Dewan Edisi Keempat Paperback (Malay Dictionary) Earpiece FOR PLDS	1 1 1 1 2 2 2 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50 33.00 28.20	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 10.5 33.0 28.2 3.9
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP : \$ 12.50) Casio Scientific Calculator FX-97SG X (UP: \$35.50) Kamus Dewan Edisi Keempat Paperback (Malay Dictionary) Earpiece FOR PLDS Thermometer	1 1 1 1 2 2 2 1 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50 33.00 28.20 3.90	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 10.5 33.0 28.2 3.9 5.9
B2D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) B806 Subject File - White (GEOGRAPHY) B82D Subject Ring File - Yellow (ENGLISH) B806 Subject File - Red (HISTORY / SOCIAL STUDIES) B806 Subject File - Green (SCIENCE) B8906 Subject File - Green (SCIENCE) B8906 Subject File - Green (SCIENCE) BSPP Upper Secondary Textbook Cover BSPP Upper Secondary Textbook Cover BC Divider File - Dark Blue (MATH) BC Divider File - Dark Blue (AMATH) BSPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP : \$ 12.50) Casio Scientific Calculator FX-97SG X (UP: \$35.50) Kamus Dewan Edisi Keempat Paperback (Malay Dictionary) Earpiece FOR PLDS Thermometer Besta All Pass 6 Chinese E-Dictionary	1 1 1 1 2 2 2 1 1 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50 33.00 28.20 3.90 5.90	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 10.5 33.0 28.2 3.9 5.9
82D Subject Ring File - Red (POA) T82D Subject Ring File - Purple (LITERATURE) 8806 Subject File - White (GEOGRAPHY) 82D Subject Ring File - Yellow (ENGLISH) 8806 Subject File - Red (HISTORY / SOCIAL STUDIES) 8806 Subject File - Green (SCIENCE) ESPP Upper Secondary Textbook Cover 5C Divider File - Dark Blue (MATH) 5C Divider File - Dark Blue (AMATH) ESPP A4 70's Lecture Pad(Kraft)-Fsc 5In1 (UP : \$ 12.50)	1 1 1 1 2 2 2 1 1 1 1 1 1 1 1	Tick	3.30 3.30 1.00 3.30 1.00 1.00 12.00 3.40 3.40 10.50 33.00 28.20 3.90 5.90 70.90	3.3 3.3 1.0 3.3 2.0 2.0 12.0 3.4 3.4

Home Delivery

Website Launch Date: 06/11/2025

Website Closing Date: 13/12/2025 (Subject to slot availability)

Please purchase online at www.pacificbookstores.com.

Total amount of purchase for all sections=

Payment via VISA/ MASTERCARD/ Debit Cards/ PayNow. Delivery charge of \$14.90 applies.



GREENDALE SECONDARY SCHOOL SECONDARY 3 STATIONERY LIST FOR YEAR 2026

S3

No. on as	
Name of Pupil:	Class:

Self Collection

You are welcome to place your order online via the website: www.pacificbookstores.com. Collection can be done at the school on stipulated dates given on the website. You are strongly encouraged to pre-order to avoid long queues and enjoy shorter waiting time. Payment is required upon ordering online via VISA / MASTERCARD / Debit Cards / PayNow.

Walk In

You may purchase from the school bookshop on the dates stated below. Please take note that there may be a long queue and longer waiting time may be expected. Payment Modes accepted: Cash, PayNow(Scan QR code) & NTUC Care (Back-to-School).

*Please note that cheque payments are not accepted.

-	Acres de la constitución de la c		09/12/2025	Tue	Sec 3 Only	22/12/2025	Mon	Sec 1 Only
44						23/12/2025	Tue	Sec 1 Only
01/12/2025						26/12/2025	Fri	All Levels
02/12/2025						29/12/2025	Mon	All Levels
03/12/2025				1		30/12/2025	Tue	All Levels
04/12/2025	Thu	Sec 4 Only	19/12/2025	Fri	Sec 1 Only			

Operating Hours: Mon-Fri: 9am to 3pm, Sat: Close

Please avoid Lunch time (12.00pm to 1.00pm)

Books supplied by Pacific Bookstores Pte Ltd. Tel: 69298012 Email: sales@pacificbookstores.com

[&]quot;A one-time packaging fee will be applied to all orders (\$0.10 for plastic, \$0.90 for reusable) unless the customer opts to Bring Their Own Bag (BYOB)."